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Average Body Tolerance

Marmal Househald

Current

1 Circuit = 1500 Watis/15 Amps
! /
I

b uses
of current

A 100
1,000 millia

- _.-:_-'5;
5 milliamps will trig & ground
fault cireuit interrupter
-

Electric current
in milllamperes
1=
5

£ Can feel it

4@ Can't let go

,’ﬁ Increasing pain
breathing may

F
: become difficult

48 Probably fatal
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100,000

s

Voltage (V)
Resistance (R)
(Volts)
(Ohms)

Current (I) =

A= Amperes (Amperes) =
mA = Miliamperes ;

1A = 1000 Miliamperes

LQ = Ohms J
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" Lo not touch a fire ydrant if thera's
nearby underground electric conductor




Best Practices for Coping with Electrical Hazards in Emergency Situations
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ﬂ Keap public back
minimurn 10 m/33 ft

ﬂ Wire contacting object
can burn through.

A Treat all conductors
as enaergized.
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Contacting the car and ground
at the same time can be FATAL.
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Fog Spray
700 Kpa (100 psi) at nozzle

30 degree spray pattern

Keep Back
Minimum
10 m (33 ft)



Voltage unknown, low level fire,
staying back - 10 m (33 ft)




Arc-Over Hazard




Problems with Step Potential

High intense fires, staying

- l 8
R - 32 m (100 ft)
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Stay Back 10m (33 ft)

I



Keep Public Back
15m (50ft)









4,800-27,600 V

inimum 3m (10 ft)
rom working zone
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